MANUACTRING . Pre-Confi gu red

b/ patacom LAN/DATA Assemblies

sackrartio. C2RR247023DBK1 Optional Accessories
General Accessories Beige Black
cz R R24702 3 DCG1 Extra tapped mounting rails (pair) _ CCR70TBK3
Beige Part No. Ganging kit _ CGHo1
Specifications 24" 10 19" adapter kit (for 1 pair rails) _ CAK1924
Solid door CDF2470CG1* CDF2470BK1*
* 24" wide rack mount or Perforated Door CDF2470VCG1*  CDF2470VBK1*
19" wide rack mount (CAK1924 adapter kit required) Vented Plexi Door CDF2470VPCG1* CDF2470VPBK1*
* 70" (40U) panel height Side panel locks (4) _ CSPQTRL
e 23.63" overall depth Casters (4) B 1425BM
e Fan top with 4 fans C2T2423F4CG1* C2T2423F4BK1*
| - 10-32 x .75" Countersunk Screws 1421A25B
B | 10-32 Plastic Cup Washers 1421A25W
| vented cable 10-32 x.63 black pan hd screw, nylon washer - 25 gty 1421ABK25
. : entry top 10-32 x.63 black pan hd screw, nylon washer - 100 gty 1421ABK100
plexi front - E{ .-
door T Bl B panel ) ) )
\ | B 19" Panel Width Accessories Black
s { welded | (requires adapter kits from above)
. !/ 14guage | Solid slide-out shelf RSUS1918BK1
. | frame | Vented slide-out shelf RSVS1918BK1
E Solid shelf RFUS1918BK1*
E ‘ i Vented shelf RFVS1918BK1*
- I ' Keyboard drawer RAKS19BK1
| B Swivel keyboard drawer RSKS19005BK1
g o - Swivel keyboard door RSKS19DOORKB1
B o removeable Storage drawer RDRW1900316BK1*
8 B side panels | Filler panel (1U) PBPA19001BK2*
I | | Filler panel (2U) PBPA19003BK2*
E | Filler panel (3U) PBPA19005BK2*
- louvered Fan tray (6 fan, 600 CFM) FT600HA1BK
2 pair tapped |- rear door
mounting \ | B : 24" Panel Width Accessories Black
rails 4 Solid shelf RFUS2418BK1*
i - f"; Vented shelf RFVS2418BK1*
L_"___ .,H g Keyboard drawer RAKS24BK1
¥ Storage drawer RDRW2400316BK1*
Features *Other colors available, contact factory for details
* Shipped fully assembled
» Welded 14 gauge steel frame Power Bars see page 16
* Removable sides, doors and top for easy access Cable Management see page 17-18
¢ Open bottom for cable access More Accessories see (atalog ER-2000
¢ Can be ganged side by side
* 4 mounting rails, u market, tapped 10-32 to EIA standards
¢ Lockable doors . =
¢ Grounding provision
Assembly Components Beige Black = |
Frame (incl. leveling feet) C2F247023CG1*  C2F247023BK1* _: 1 _-__
Tapped mounting rails 2xCCR70TBK3 __ 2xCCR70TBK3 — wiil]-m
(2 pairs) ! | ;M-
Plexi front door C2DF2470PBK1 C2DF2470PBK1 —F ol 111
Louvered rear door CDF2470LCG1* CDF2470LBK1* —"
Vented cable entry top panel C2T2423VCECG1* C2T2423VCEBK1*
Side panels (pair) CSP7023CG1* CSP7023BK1* | = —_—l
* Other colors available, contact factory for details 24" Server Application 19" Panel Mount
Note: If any assembly component needs to changed or removed, please order all parts by the (reqUireS CAK1924 adapter kit)
component number shown.
Canada (519) 822-2960 or (905) 456-3770 6 USA (716) 630-7030

© Hammond Manufacturing Data subject to change without notice



HAMMOND
MANUFACTURING -

b/ patacom

Pre-Configured

LAN/DATA Assemblies

slackParto. CZRR247823 DBK1
Beige Part No. CZ RR247823 DCG1

Specifications

24" wide rack mount or
19" wide rack mount (CAK1924 adapter kit required)
78.75" (45U) panel height
23.63" overall depth

| [ vented cable
. L | entry top
plexi front - 3 B
door \\ gl E panel
: i welded
|/ 14 guage
: | frame
- I ‘ y ]
|
E removeable
8 B side panels
: |
3 louvered
2 pair tapped - rear door
mounting \ | B ;
rails : |
—
—1 1P
Features

Shipped fully assembled

Welded 14 gauge steel frame

Removable sides, doors and top for easy access

Open bottom for cable access

Can be ganged side by side

4 mounting rails, u marked, tapped 10-32 to EIA standards
Lockable doors

Grounding provision

Assembly Components Beige Black
Frame (incl. leveling feet) C2F247823CG1* C2F247823BK1*
Tapped mounting rails (2 pairs)  2xCCR78TBK3 2xCCR78TBK3
Plexi front door C2DF2478PBK1  C2DF2478PBK1
Louvered rear door CDF2478LCG1* CDF2478LBK1*
Vented cable entry top panel C2T2423VCECG1* C2T2423VCEBK1*
Side panels (pair) CSP7823CG1* CSP7823BK1*

*Other colors available, contact factory for details

Note: If any assembly component needs to changed or removed, please order all parts by the
component number shown.

Optional Accessories

General Accessories Beige Black
Extra tapped mounting rails (pair) CCR78TBK3
Ganging kit _ CGHO1
24" 10 19" adapter kit (for 1 pair rails) _ CAK1924
Solid door CDF2478CG1* CDF2478BK1*
Perforated Door CDF2478VCG1* CDF2478VBK1*
Vented Plexi Door CDF2478VPCG1* CDF2478VPBK1*
Side panel locks (4) CSPQTRL
Casters (4) _ 1425BM
Fan top with 4 fans C2T2423F4ACG1* C2T2423F4BK1*
10-32 x .75" Countersunk Screws 1421A25B
10-32 Plastic Cup Washers 1421A25W
10-32 x.63 black pan hd screw, nylon washer - 25 gty 1421ABK25
10-32 x.63 black pan hd screw, nylon washer - 100 gty 1421ABK100
19" I"anel WidtI? Accessories Black
(requires adapter kits from above)

Solid slide-out shelf RSUS1918BK1

Vented slide-out shelf RSVS1918BK1

Solid shelf RFUS1918BK1*
Vented shelf RFVS1918BK1*
Keyboard drawer RAKS19BK1

Swivel keyboard shelf RSKS19005BK1

Swivel keyboard door RSKS19DOORBK1

Storage drawer RDRW1900316BK1*
Filler panel (1U) PBPA19001BK2*
Filler panel (2U) PBPA19003BK2*
Filler panel (3U) PBPA19005BK2*
Fan tray (6 fan, 600 CFM) FT600HA1BK
24" Panel Width Accessories Black
Solid shelf RFUS2418BK1*

Vented shelf RFVS2418BK1*

Keyboard drawer RAKS24BK1

Storage drawer RDRW2400316BK1*

*Other colors available, contact factory for details

Power Bars

see page 16

Cable Management see page 17-18

More Accessories see Catalog ER-2000
] [

—
—_—
—

i
—
—"

24" Server Application

_F-n—u.:!
19" Panel Mount

(requires CAK1924 adapter kit)

Canada (519) 822-2960 or (905) 456-3770
© Hammond Manufacturing

10

USA (716) 630-7030
Data subject to change without notice



